[ Efficiency vs vertpos |
0.0]

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

1072 107 1 10 10?

—=— DQM_TT__mkFit-DQM_lowptq_orig
Efficiend —— poMm_TT_ mkFit-DQM_lowptg_modi2

0.0

T O s s
| s e e
0.007F--+ovbeeeeedeonecesdonnnendinindcs
e e
S s S e
e e o
0.003fF-++++wieseesdnerenes R P
T RTtics Sttt Se T
e
o] SPRFRPESY PSPPI SFEPAIFIS EFEPSFAPIE EFSPRPRSS SRS
e
%000 102030

[ Efficiency vs. sim PV z |
0.0

0 T T T T
s e s s
0.007F-++eebeseeredvenenes R LRt AR
9l O A S
T CTTEs SR SR S S
e SRTTirs STttt Se T
T T e
T Tiics Sttt Se T
A0 O W
e e e
S5 Tho 00204060



	Contents
	Page 1


